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Ing: vn > ng, f(n) > 0.

B(g(n)) = {f(n) | 3c1,c2 >0, 3np: Ynm>np, 0 < ¢1.g(n) <f(n) < Cz.g(n)}

fn)=1/2+= n>-3n, g(n) = n?, f(n) € 6(g(n))?
0<cy#m?<1/2+n? =3n < cysn?

0 < cl*nz

c1#n? < 1/2 *n? —3+n nenmm Ha n>

1/2%n? =3+n < cy*n? nenum Ha n

c1<1/2 -3/n
1/2 -3/n < ¢

cp = 1234567



n>7 = 1/2-3/7=1/14
1 < 1/14
c1 = 1/15

ny = 10, c; = 1/15, ¢, = 1234567

O(g(n)) = {f(n) | Ic1,¢2 >0, 3Ing: ¥n >no, 0 < cy.9(n) < f(n) <cz.g(n)}

O(g(n)) = {f(n) [ 3c >0, Ing : Vn >ny, 0 < f(n) <c.g(n)}

Q(gin)) = {f(n) | ¢ >0, Ing: Vn =m0, 0 < c.g(n) < f(n)}

o(g(n)) = {f(n) | Ve >0, Ing : ¥n >ny, 0 < f(n) <c.g(n)}

w(gm)) = {f(n) Ve >0, Ing: Vn >no, 0 < c.g(n) < f(n)}



f(n) +g(n) < max(f(n), g(n))



axmax(f(n), gn)) < f(n) + g(n) < bx=max(f(n), g(n)

max(f(n), gn)) < f(n)+ < max(f(n), g(n)) + max(f(n), g(n))
1+ max(f(n), g(n)) < f(n +g(n) Z*max(f(n g(n))

no = max(nfo, ngo)



